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Introduction
In this contribution, we provide discussion on maintaining issues on RRM requirements for NR FeMIMO.
Discussion
In R17, inter-cell beam management is introduced for NR FeMIMO. Considering the overlapping case between serving cell SSB and non-serving cell SSB for L1-RSRP measurements, the values of sharing factor P for serving cell SSB and non-serving are defined as follows:
	9.5.4.1	SSB based L1-RSRP Reporting
…
For FR2,
	P1=, when SSB is not overlapped with measurement gap and SSB is partially overlapped with SMTC occasion (TSSB < TSMTCperiod).
-	P is PL1_sharing*Psharing factor, when SSB is not overlapped with measurement gap and SSB is fully overlapped with SMTC occasion (TSSB = TSMTCperiod).
-	P1=, when SSB is partially overlapped with GAP and SSB is partially overlapped with SMTC occasion (TSSB < TSMTCperiod) and SMTC occasion is not overlapped with GAP and
-	TSMTCperiod ≠ xRP or
-	TSMTCperiod = xRP and TSSB < 0.5*TSMTCperiod
-	P is , when SSB is partially overlapped with GAP and SSB is partially overlapped with SMTC occasion (TSSB < TSMTCperiod) and SMTC occasion is not overlapped with GAP and TSMTCperiod = xRP and TSSB = 0.5*TSMTCperiod
-	P1=, when SSB is partially overlapped with GAP (TSSB < xRP) and SSB is partially overlapped with SMTC occasion (TSSB < TSMTCperiod) and SMTC occasion is partially or fully overlapped with GAP.
-	P is , when SSB is partially overlapped with measurement gap and SSB is fully overlapped with SMTC occasion (TSSB = TSMTCperiod) and SMTC occasion is partially overlapped with GAP (TSMTCperiod < xRP)

-	If SSB resource from the cell with different PCI is configured for L1-RSRP measurement, and P2 is valid accoding to 9.13.4.1, and any symbol of the SSBs from serving cell and cell with different PCI are overlapping or adjacent (in time domain)
[bookmark: _Hlk110854102]-	P =  ,   if P1*TSSB < P2*TSSB_CDP.
-	P = P1, if P1*TSSB > P2*TSSB_CDP.
-	P = 2*P1, if P1*TSSB = P2*TSSB_CDP.
-	Otherwise, P = P1
…

	9.13.4.1	Inter-cell SSB based L1-RSRP Reporting
…
For FR2,
-	P is PL1_sharing*Psharing factor, CDP, when SSB is not overlapped with measurement gap and SSB is fully overlapped with SMTC period (TSSB_CDP = TSMTCperiod), and TSSB_SC = TSMTCperiod.
-	P is , when SSB is partially overlapped with measurement gap and SSB is fully overlapped with SMTC occasion (TSSB = TSMTCperiod) and SMTC occasion is partially overlapped with GAP (TSMTCperiod < xRP), and TSSB_SC = TSMTCperiod.
-	P2=, when SSB is not overlapped with measurement gap and SSB is partially overlapped with SMTC occasion (TSSB_CDP < TSMTCperiod). 
-	P2=, when SSB is partially overlapped with measurement gap and SSB is partially overlapped with SMTC occasion (TSSB_CDP < TSMTCperiod) and SMTC occasion is not overlapped with measurement gap and
-	TSMTCperiod ≠ MGRP or
-	TSMTCperiod = MGRP and TSSB_CDP < 0.5*TSMTCperiod
-	P2= ,when SSB is partially overlapped with measurement gap (TSSB_CDP <MGRP) and SSB is partially overlapped with SMTC occasion (TSSB_CDP < TSMTCperiod) and SMTC occasion is partially or fully overlapped with measurement gap.
-	If SSB resource from serving cell is configured for L1-RSRP measurements, and P1 is valid accoding to 9.5.4.1, and any symbol of the SSBs from serving cell and cell with different PCI are overlapping or adjacent (in time domain)
[bookmark: _Hlk112190686]-	P =  ,   if P2*TSSB_CDP < P1*TSSB_SC.
-	P = P2, if P2*TSSB_CDP> P1*TSSB_SC.
-	P = 2*P2, if P1*TSSB_SC = P2*TSSB_CDP.
	-	Otherwise, P = P2
…


For serving cell SSB based L1-RSRP measurements, the sharing factor value is separately defined for 6 scenarios. However, for non-serving cell SSB based L1-RSRP measurements, the sharing factor value is separately defined for 5 scenarios. It can be observed that the following scenario (Scenario A) is missing for non-serving cell SSB based L1-RSRP measurements
· Scenario A: when SSB is partially overlapped with GAP and SSB is partially overlapped with SMTC occasion (TSSB < TSMTCperiod) and SMTC occasion is not overlapped with GAP and TSMTCperiod = xRP and TSSB = 0.5*TSMTCperiod
Observation 1: For inter-cell BM in R17, the following case is not defined for CDP SSB based L1-RSRP measurements in FR2.
· Scenario A: when SSB is partially overlapped with GAP and SSB is partially overlapped with SMTC occasion (TSSB < TSMTCperiod) and SMTC occasion is not overlapped with GAP and TSMTCperiod = xRP and TSSB = 0.5*TSMTCperiod
For serving cell SSB based L1-RSRP measurements, the current definition of sharing factor P for scenario A does not consider the case that serving cell SSB is overlapped with non-serving cell SSB. If the non-serving cell SSB periodicity is equal to the serving cell SSB periodicity, then the sharing factor P needs to be further scaled by 2. If the non-serving cell SSB periodicity is smaller than the serving cell SSB periodicity, then the sharing factor P needs to be further scaled by 2. So, in scenario A, the sharing factor P1 needs to be applied for serving cell SSB based L1-RSRP measurements in section 9.5. Similarly, the sharing factor P2 needs to be applied for 
Proposal 1: For SC SSB based L1-RSRP measurements in section 9.5 in FR2, the sharing factor P1 needs to be applied for scenario A.
Proposal 2: For CDP SSB based L1-RSRP measurements in section 9.13 in FR2, the sharing factor for scenario A shall be added and the sharing factor P2 needs to be applied for scenario A.

Conclusions
This contribution provides our analysis on RRM core maintaining issue for Rel-17 NR FeMIMO. The following are provided:
Observation 1: For inter-cell BM in R17, the following case is not defined for CDP SSB based L1-RSRP measurements in FR2.
· Scenario A: when SSB is partially overlapped with GAP and SSB is partially overlapped with SMTC occasion (TSSB < TSMTCperiod) and SMTC occasion is not overlapped with GAP and TSMTCperiod = xRP and TSSB = 0.5*TSMTCperiod
Proposal 1: For SC SSB based L1-RSRP measurements in section 9.5 in FR2, the sharing factor P1 needs to be applied for scenario A.
Proposal 2: For CDP SSB based L1-RSRP measurements in section 9.13 in FR2, the sharing factor for scenario A shall be added and the sharing factor P2 needs to be applied for scenario A.
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